1 SFH2EEFHEMTRR ($FSE3A3IBARE)
(1) —me=st
(HEh-JAH)
% A % H
B B FEBRLE A|UAFEEE B)| B)/(A) (%) |HERLLE (%) ® = FEIRLE (O)|XZHFEE (D)| (D)/(C) (%) | #ERLEE (%)
1 ™ i) 5,729 5717 99.8 204 (| 1 & = & 204 199 97.5 0.7
2 i H E 5 194 202 104.1 07| 2 #& % & 8,342 6,935 83.1 25.9
3 M F A X M &£ 4 4 100.0 00| 3 R & & 6,532 5,934 90.8 22.1
4 B OB B X F £ 20 19 95.0 01| 4 #& = & 6,731 6,349 94.3 23.7
5 HBAFREMBIXRMGE 9 26 288.9 01|[5 BEM K E X & 1,339 643 48.0 24
6 EABTEBRIMTE 49 59 120.4 02| 6 ™A T & 403 334 82.9 1.2
THAHEHEBRIMTE 881 933 105.9 33|17 £ PN -y 3,401 1,408 414 5.3
8 JIJEMAHRRME 6 5 83.3 00| 8 :H 3] & 891 792 88.9 30
9 B I M B XM 30 14 46.7 00| 9 % ] & 3,494 1,496 42.8 5.6
10H# 5 % 6 X F € 43 43 100.0 02|10 K & & B & 169 136 80.5 0.5
"M B XX fF 8,422 8,451 100.3 302 |11 4 & & 1,993 1,992 99.9 74
12 RBREXEKFANRTE 4 3 75.0 00[|12 38 X H £ 584 579 99.1 2.2
BHRaEesrvalEE 27 22 815 01|13 % fis & 32 0 0.0 0.0
14 #F ARV F HH 436 386 88.5 14
BE E X #H =% 8,872 7,957 89.7 28.4
16 & b2 H & 1,829 443 24.2 1.6
17 Bf E IR A 36 33 91.7 0.1
18 & Ff & 135 129 95.6 05
19 # A & 1,034 978 94.6 35
20 #% i & 1,344 1,344 100.0 48
21 & I A 533 505 94.7 1.8
22 & 4478 737 16.5 26
m A & & 34115 28,010 82.1 100.0 m H & F 34,115 26,797 78.5 100.0
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(2) THDRARSR

(3) Al=Ft

(Bfr-BaBm[) (Bfi-BBA)
# H FHIRLE IRAEEE | R %) 2 & & |FHEZE E|WRAFZZE P(XZLEEE (G) F/E) @ | (G)/E) %)
T RO 2,372 2,373 415 ERERERIRSEE 4,471 4,125 4,036 92.3 90.3
2 B EEE M 2,711 2,689 471 K B & R 8 5 4 62.5 50.0
3EH B EHR 137 139 2.4 TERKRER 4,212 4,179 3,859 99.2 91.6
I T = G 330 338 5.9 BHYEEhEER 570 569 502 99.8 88.1
5 A m W 11 11 0.2 a &t 9,261 8,878 8,401 95.9 90.7
6 # T F ® f 168 167 2.9 x BHFESD)
a & (1~6) 5,729 5717 100.0
REmRKEH 828 876 100.0




(4) DELRIFE

© FH2EEDRE (RA) KR (B4 FHHM) © FHM2EEDEERR (BA-EFA)
E 4 roawg | | mmwe | TNR| E % rawg | L B mmwe | TR
E OF I # 1,136 146 2,579 96 3,957 E OEXE N O# 1,033 133 2,565 88 3,819
Wle 2 s oag 2 89 13 1,682 396 2,180 Wle = o an 2 89 13 1,680 396 2,178
A A F = 0 0 0 0 O || B#OA W O#E 0 0 0 0 0
2 H 1,225 159 4,261 492 6,137 i A 1,122 146 4,245 484 5,997
2 X & A 929 179 3,372 490 4,970 L 2 X & H 892 170 3,295 481 4,838
H1X e 2 5 5 A 56 9 66 59 190 [ |E|z ga 2R 53 7 193 61 314
W Bl 8| K 0 0 0 3 3 |m R _A 8B X 0 0 0 3 3
&t 985 188 3,438 552 5,163 - it B 945 177 3,488 545 5,155
i E 3 & 503 0 103 104 710 |7
E-RB@HEBBE 0 0 2 30 32 LEAMFIZE (A)—(B) 177 A 31 757 A 61 842
Rz EaEHEE 4 0 0 0 4
7 —REHES 7 0 0 173 180 =B B B E 11,526 720 6,183 9,050 27,479
Al SRS 20 0 113 0 133 é woB B E 926 272 1,292 87 2,577
2 0 0 0 7 4 "l & g?sff;: E OB OE 0 0 0 0 0
¥ Hi 534 0 225 311 1070 |4z H 12,452 992 7,475 9,137 30,056
%% R B 730 20 471 137 1,358 st & BH T & & 4,843 302 3,659 3,040 11,844
T EXEREESR 289 26 218 229 762 sk B & & 1,981 33 945 240 3,199
bl |[THEARES 0 0 0 0 o| |™ R E W 1,372 158 1,824 5,055 8,409
z D ftt 0 0 13 0 Bl |x|&x|E x £ 3,337 459 3,027 573 7,396
H é.'% Z ® Kiid 919 40| A 1,980 229 A 792
) 1,019 46 702 366 2,133 H 12,452 992 7,475 9,137 30,056




DH2EEDOFHERITRR

(BEf-BahmH)

X % roawg | | mmwe | TXR|
FHEBREE © 1,182 155 4,111 481 5,929
1R = HoE E D 1,225 159 4,261 492 6,137
A ITER(D)/(C) (%) 103.6 102.6 103.6 102.3 103.5
= FPEHEHE ©® 1,042 200 3,494 563 5,299
:9] * XHFE P 985 188 3,438 552 5,163
§ BATEF)/(E) %) 94.5 94.0 98.4 98.0 97.4
FERE @ 2,169 0 233 318 2,720
& = hOE E K 534 0 225 311 1,070
A BAITERMH)/(G) %) 24.6 0.0 96.6 97.8 39.3
* FEHEE () 2,648 48 744 375 3,815
;9] * XHEHE ) 1,019 46 702 366 2,133
§ BATEW)/D ) 38.5 95.8 94.4 97.6 55.9




